/NP - PFR-TILEFFRAERER

(BfL: 4 Sv.h)

. - 50cm

No| BIER X4 I & T =TT o = W
1 BHINER 0.05 - - _

2 BiREEER 0.06 - - -

3 KREEDFER 0.06 - 0.06 0.05
4| 2R6H 5 EINER 0.06 - 0.05 -

5 % [FEDRFR 0.05 - - -

6 | E ek 0.06 - 0.07 -

7 = o B/NERR 0.05 - - -

8| 2R7H TEIRNERR 0.06 - 0.06 0.06
9 2B PR R 0.06 - - -

10 BURINERR 0.06 - 0.06 0.07
11| 2858 | M |KEBE/NER 0.07 - 0.07 0.07
12| 2A88 | AIE [AIERGFER 0.05 - - 0.06
13 2A1E | s KIFINFERR 0.06 - - -

14 TN FERR 0.08 - - -

R == = 50cm

No| HIER |HX% i B =FLT o =
1 BEINFR 0.06 - - -

2 BIREFPR 0.06 - - -

3 KEE/MPR 0.06 - 0.05 0.06
4 2R21B | |EINER 0.05 - 0.05 -

5 # |FEPER 0.06 - - -

6 o |E 0.06 - 0.06 -

7 = BN 0.05 - - -

8| 2H22R TEIRINERR 0.06 - 0.06 0.06
9 2R 198 PR 0.06 - - -

10 BUR/NERR 0.06 - 0.06 0.07
11| 28208 | #8 | KANDFRK 0.06 - 0.05 0.06
12| 28268 | AIFE [AIRIERGER 0.04 - - 0.06
13 2A198 | HE KEINERR 0.07 - - -

14 TN 0.07 - - -

BIES: 7OMENASUFL—2av K —_AA—H(TCS—172)




